The particular integral of eq. (38) may be obtained by first assuming that the

solution has the form:
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where A is to be determined. Subs; icuting Eq (‘*‘L\’) in Eq. ( 13 ) gives:
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Therefore the particular integral is:
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which has the correct S.1. units of volts=J C . Resonance occurs in the scalar potential in

volts of eq. ( L\.L) when:
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In the particular case:
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the resonance condition is given by the quadratic equation:
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which has the roots
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Therefore there are two resonance peaks at: :
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This result is also obtained numerically in Section 3. To obtain this result it has been assumed
that the initial driving charge density oscillates according to a cosinal function on the right
hand side of Eq. ( 3(, ). A-more complicated initial driving function may be used according to
circuit design or similar. The important result is that resonance occurs in the voltage, and this
surge in voltage is caused by the spin connection of space-time. The voltage obtained in this
way may be used for new energy.

In the limit:
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eq.- ( ?>S ) reduces to the Poisson equation:
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used in the standard model. Eq. ( \-l-b) may be rewritten as:
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and in infinite r limit this equation becomes:
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so that:

Q.E.D. In this limit is known that the scalar potential is { a ) }:
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This is a mathematical check on the self-consistency of the analytical solution ( \.\-(;)
of the resonance equation ( 3S ). Physically however the spin connection cannot vanish
unless r becomes the radius of the universe. This is because the electromagnetic field is
always spinning space-time in ECE theory. Similarly, the gravitational field is always curving

space-time. MH theory (standard model) has no conception of the spin connection.
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